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PGCD et PPOM
1. ) PGAD (100, 210) = 10, PPOM (100, 210) = 2100
b) PGCD (90, 225) = 45, PRCM (90, 225) = 450

20@) 150:2x3x 5 180:2°x 3 x5
b) 62:2x31 90:2x3 x5
© 63:3x7 200:2°x5*
@) 90027 x 3 x5t 137550 x 11
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3. a) Facteurs

premiers Facteurs
dont 2 premiers
e prodit 3|2 fdomt
est150. 5] 3 |leprodut
2 est 180,

PGCD (150, 180) =

), PPCM (150, 180) = 900

B) Faceurs
premiers Faceurs
dont | 31 3| premiers
e produt 2| 3 fgon
a2 5 |leproduic

- est90.

PGOD (62, 90) = 2, PRCM (62, 90) = 2790
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o Facteurs

premiers 2 Facteurs
dont 2 | premiers
e produt 2 | dont
st 63 5 |le produit
3 Jetao

PGOD (63, 200) = 1, PPCM (63, 200) = 12 600
4y Facteurs 7

premiers Facteurs
dont| 2 [ % premiers
leprodut| 3|5 | S |dont
escom. |3 1 |le produit
- est1375,

PGAD (900, 1375) = 25, PRCM (900, 1375) = 49 500

. a) Facteurs

— Facteurs
premiers
dont| 2 (2 premiers
leprout| 3 | 3| 7 |dont
et 180. s le produt
2 et 210.

b) PGED (180, 210) = 30, PPCM (180, 210) = 1260
9 3780

@) 5780

) Les résulas sont identiques.

. Dans 12 jours

6. a) 80 bougues.

b) 3 fleurs rouges et 5 fleurs bleues




